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Name the Part of Speech of the underlined word for

Questions 51-55 and mark the correct option among the

given:

51. Here is the yellow rose.
A) Preposition B) Adjective
C) Pronoun D) Conjunction

52. Think about the situation.

A) Noun B) Adverb

C) Verb D) Preposition
53. He looks disappointed.

A) Interjection B) Adjective

C) Preposition D) Noun

54. She impressed everyone at the interview.
A) Pronoun
C) Noun

B) Conjunction
D) Adverb

55. The fox jumped over the wall and escaped.
A) Interjection B) Preposition

C) Conjunction D) Verb

Choose suitable articles for the following sentences
(Questions 56-60) and mark the correct option among
the given:

56. He was _ member of the board of directors.

A) An B) The
OA D) An & The
57.1 took three hundred rupees out of ___ box.
A)A B) The
C) An D) An & The
58. It is pleasant to read ___ book in ___ afternoon.
A) The & A B)An & A
C) A & The D) An & The
59. He is __ European and not ___ African.
A) The & A B)A & An
C) A & The D) An & The
60.1 bought  horse and oX.
A) An & The B)A & An
C) The & A D)An& A

For Questions 61-65 add “some”, “any” “one” or
“ones” as required and mark the correct option
among the given:

61. There isn’t ____ boot-polish in this tin.
A) Some B) Any
C) One D) Ones
62. You have ____ fine flowers in your garden.
A) Any C) Ones
B) Some D) One



63.1 can’t eat more potatoes.

A) One B) Any
C) Ones D) Some
64. You have lot of apples; please give me .
A) Any B) Many
C) One D) Ones
65. Don’t make noise. He wants to get sleep.
A) Some & Any B) Some & Any
C) Any & Some D) Ones & Some

Fill in the blanks using correct tense form of the verb
for Questions 66-70 and mark the correct option

among the given:

66. I often __ with a pen but now I am using a
pencil.
A) Writing B) Written
C) Write D) Wrote

67. My father is not here. He ___ to Mumbai
Yesterday.
A) Go B) Went
C) Goes D) Gone

68. I learnt grammar when I____ a private soldier on

the pay of six pence a day.

A) Was B) Were
C) Am D)is
69. It is five o’clock now. They _ learning
mathematics since 4.30.
A) Were B) Are
C) Have D) is
70. While he was swimming, someone ___ his
clothes.
A) Stole B) Stealing
C) Stolen D) Stealth

Identify the wrong part in the given sentences
(Questions 70-75) and mark the correct option among

the given:

71. I |does not| know| the truth.
1] 2 | 3 | 4
A)l B)3
C)2 D)4

72. He |speaking English | with a peculiar | accent.

1] 2 | 3 | 4
A) 1 B) 3
O 2 D) 4
73. He is | one of | the famous | author.
1 | 2 | 3 | 4
A) 1 B) 3
C) 2 D)4
74. He | called me| as| a fool.
1 | 2 |3 | 4
A) 1 B)3
C) 2 D)4
75. He | agreed | my | invitation.
1] 2 | 3| 4
A) 1 B)3
C) 2 D)4
76. 2001-2011 SO TS 8‘5530936053 (ntol it
BRI [oR):
A)17.64 B) 15.64
C)15.64 C) 14.04

India’s population grew at the rate of
during 2001-2011 decade.

A)17.64 B) 15.64
C)15.64 D) 14.04

77. ©R308T TOOINE xom@‘adg e.—oc:ﬁi\eoﬁ
woma’ﬁﬁ@m& ______ dﬁ?ﬁ@ﬁ.@ﬁoﬁ
SBEZRMHIT.
A)3 B) 4
C)5 D) 6

In the United States of America, the
presidential elections are conducted once in

years.
A)3 B) 4
C)5 D) 6

78. The Grand old man of India 0T O3
5803:%:3:%:263?

A) ToR ORTSTTIOIT
B) coonomegt oT

C) RTeOTTFH LRIBE
D) T5oTo025000 SewBRees



Who among the following is called as the
‘The Grand old man of India’?

A) Lala Lajpat Rai

B) Bal Gangadhar Tilak

C) Surendranath Banerjee

D) Dadabhai Naoroji

79. WL SPTPTY MOREECHTT BT B!
A) The Phoenix settlement
B) Sarvodaya Enclave
C) Young Africa
D) Sabarmati

The name of Gandhiji’s Ashram in
South Africa was:

A) The Phoenix settlement

B) Sarvodaya Enclave

C) Young Africa

D) Sabarmati

80. “ZeTTOOLOI” By “RONVTEFR” QOW

NTTT0ES:
A) TREIFES B) @vx00e3d
C) o3 md@ D) 9350¢3

The person who was given the titles like
‘Devanampriya’ and ‘Priyadarshini’ was:
A) Harshavardhan B) Mahaveer

C) Gautam Buddha D) Ashoka

81. RO et [EIEOT VOMOTR, TRORTLHH
BT ABRIHT?
A) @ﬁowése B) BE0e03a
C) 2eDNTF® D) @O@ﬁéw
The coal with the highest carbon content is:
A) Lignite B) Subbituminous
C) Bituminous D) Anthracite

82. WF BRRWRT, MWRATIHL!
A) To0 RBRCTIFTOIT
B) T3c3nz0on 707
C) Rpesne 3F Reesd
D) IpFmT DT0ReT

Brahma Samaja was established by:

A) Raja Ram Mohan Roy
B) Dayanand Saraswati

C) Gopal Krishna Gokhale
D) Vardhaman Mahaveer
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83. 35003 Re3WY YTOT THTVHPRW IEIe?
A) 30ox0 B) ®xo0
C) Ioxd D) goT®
Name of the Indian desert is:
A) Kalahari B) Sahara
C) Narahari D) Thar

84. ‘GQSS&GD’ QOWOTH O330T crcaz:scs %36?
A) %e0% B) 350 wT
C) @ D) mmm@
‘Kathakkali’ is a dance form of which state?
A) Kerala B) Karnataka
C) Odisha D) Maharashtra

85. BRODFS 8B C3T e’bésébaaeabol BREIT?
A)A B)B O)C D)D
The sunlight is related to Vitamin:
A)A B)B c)C DD

86. 110 ﬁos%ﬁ dreTw’ ﬁo&mégdacﬁg DEOTOTT:
A) XC B) CX
) LX D) BX
What is 110 in Roman number system?
A) XC B) CX
O)LX D) BX

87. "33 0, BoPLN, BeCTet QT O3RN R
33?

A) Bredm I

B)a. . T0men

C) w0t moze) ©oserT
D) Svzmozs, mood

‘Educate, Organize, Agitate’ is proclaimed
by:

A) Jyotiba Phule

B) EV Ramaswamy

C) Baba Saheb Ambedkar

D) Mahatma Gandhi

88. BRCO THRLF 2IHTOCH FOHTIT O33VTL?
A) BTeoTTFH LRTRE
B) 2. sT°. oo
C) Bpeceener I
D) v, Soer



Who led the Home Rule Movement? a b c d
A) Surendranath Banarjee A) 4 2 1 3
B) C.R. Rao B) 3 2 1 4
C) Motilal Nehru C) 3 4 2 1
D) Anni Beasant D) 4 2 3 1

89. ‘wggi’ ;";—i s;mzssezd V2 B8 RAREZDTR, | 97 @1 TWERET BATY LR

= :
= A) 23eooT® B) oo

A) 20 FoF B) deows B5oFT C)ﬁ D) 5g
C)amy 704, D)¥mrut Fmes ) SoRnE ) &e

The mid-day meal programme ‘Akshaya The first capital of Bahamani kingdom was:

Patre’ is run by: A) Berar B) Raichur
A) Siri Sansthe C) Kalaburagi D) Bidar
B) Central Government 93. ARNTY BRPT FF TNOH IR @Y?
C) ISKCON A) 3T B) Zexmom8
D) State Government C) sones D) oz
90. IR @% 2T PR’ TOFE IR ‘N;&}ﬁ@o Which of the following is not a subsidiary
QTS muﬁ;@; of Krishna River?
A) emgvo&)océ B) Wid B33 A) Ghataprabha B) Hemavathi
C) 28 D) &= [ C) Tungabhadra D) Malaprabha
The state in which the famous ‘Chaar 94. PANS ag@s SRTR):
Dhaam’ pilgrim centers are located, is: A) Private Account Number
A) Uttarakhand B) Uttar Pradesh B) Postal Account Number
C) Bihar D) Himachal Pradesh C) Permanent Account Number
91. 3¢R JeRT Toz; TN §F FFTNTRY, BRON D) Personal Account Number
WBOWD. .
oot 59 3:3 H03 Full f(')rm of PAN is:
a. BHTTY | zm0m, A) Private Account Number
b. Mmooz 7 PBH B) Postal Account Number
C. &EYO 3 oomed C) Permanent Account Number
d. Jowow 4. meE D) Personal Account Number
N ) '2’ ; ;1 95. DAY oY, NN PITNDS
B) 3 2 | 4 VRO
C) 3 4 2 1 A) s)xTT B) mo0x33
D) 4 2 3 1 C) Ldnes D) womee dws o
Arrange the states with their respective The major greenhouse gas is:
dance forms: A) Oxygen B) Nitrogen
State Dance C) Ozone D) Carbon Dioxide
a. Maharashtra 1 Bhangra
b. Gujarat 2 Bihu 96. BWFROBT BRTIWOT_— YVOERTIYT.
c. Assam 3 Lavani A) B3&%exE B) atbedneay
d. Punjab 4. Garba C) ZaF D) 30-230
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Deficiency of iron leads to
A) Anemia B) Night blindness
C) Scurvy D) Beri Beri

97. T T 5@3% Eﬁ@o&aﬁ& TOW LRWTT:

A) oozs 9xT° B) dnemey oome
O enod 30" D)0k @ #30°

The scientist who discovered medicine for
rabies is:

A) Lord Lister B) Ronald Ross

C) Louis Pasteur D) Edward Genner

98. uszoméseﬁ O VWY JSNOWAT.

A) BHIHT TDFT TR

B) B300% SoDMTHT ISR
C) BeHIHm 0I0TITT AT
D) B%eH® I ®HTOD,

The demographic dividend is reflected in:
A) the increase in the labour force

B) the increasing elderly

C) the increasing youth population

D) the increasing child population

99. ;3% Vet assabd N ofo] e eszsaxmmgd.

100.

A) z3=0 14 B) S 26
C) Fozmd 08 D) e 08

World Women’s Day is celebrated on:
A) January 14 B) March 26
C) February 08 D) March 08

wOT Mode3nY APRIL 20Ty, DSULO
Q0T W3RTTB, AUGUST DOWT, e
WBOHWTITH?

A) BVHVTU B) DXIXVY

C) DWIWUV D) DXJIXVW

If APRIL is coded as DSULO in a code
language, how would you write AUGUST?
A) BVHVTU B) DXJXVY
C) DWIWUV D) DXIXVW

101. 3T3TY TTFTO JEX ToFRY o3 030
ROCINT TIER):

A) 1919 B) 1909

C) 1904 D) 1912

In India, the Co-operative Societies Act
was passed in which year?

A) 1919 B) 1909
C) 1904 D) 1912

102. 230 ToPne 553?355 JRBMR0sSy
BNTHST.
A) 203 B) <03

C) 2083 Tonp RTET D) 25083

The members of a Co-operative Society
have __ liability

A) Unlimited B) Limited

C) Joint and Several D) Joint

103. @3 "oPY TOBHY, CSEINAR A

A) O B) &

C) ooz D) UO%

Apex Society represents ___ level.

A) Village B) District

C) State D) National
104. 3TT0 OPNRLY TWOTRDT 3TH):

A) DT AY

B) 2.2) 35355 2O D3

C) SN

D) 20T e Lo 03I

The principle followed in a co-operative
society is:

A) No vote B) One member, one vote
C) Multiple votes D) One share one vote

105. 350 BOFRE TS UBTRODRY, DCHOR

mﬁ@ o30:
A)RCS B) RBI
C) SBI D) SEBI

Which body regulates the functioning of
District Cooperative Banks in India?

A) RCS B) RBI

C) SBI D) SEBI



106. ZoFT SRy TbIYEERY, 3R A@ITIT?
A) TORFTSE B) 220028
C) dTor®3 =NOWY D) Q200533

Who is required to maintain the minutes’
book of a Society?
A) Secretary B) Treasurer

C) Managing Committee D) Registrar

107. 200> TOoPW TORCITNATSS, A felns)
BBODWTITN?
A) RODFRE B) 5030300
C) BoNTRS D) 7oz, [e

What are the Byelaws of a Society?
A) Rules B) Acts
C) Constitution D) General Body

108. 3TTTT Hew I
A) BATIOD TONR FTOAT ATZOOD
B) ZAm0%H
C) ©TZTT FHOOD
D) 2.00moN 2.2)30, Q0N QTR

The basic idea behind co-operation is:
A) Self-help and mutual help

B) Self help

C) Mutual help

D) Each for each and all for all

109. ‘8&@:3565:4 3R N0 JewE ACRTRTH:
A) BT FBOF JTOT
B) 3T 2@REe oo
C) . QOORO FOr®
D) 577 gna*

The term “Find Raiffeisen” is suggested

A) Sir Frederick Nicholson
B) Sir Edward Law

C) Dr. William King

D) Sir Maclagan

110. 530300 Q-3SW JSS SRS — 3G
FTOLAWTOT.
A) DETFRL RET BOFNW
B) 9030 TSI BOFRAD
C) BT HTTR T
D) 30¢dT 2TRe @Y

In India, the two-tier credit structure is
used for:

A) Long term loans B) Short term loans
C) Both Aand B D) None of the above

111. 198139 TUTTRT dTTTHT® BWIBD 8
m@ﬁa’ﬁ’ﬁ ST0TR STRRD.
A) NABARD B) NCDC
C) NCUI D) 2093 29

The Sivaraman Committee constituted in

1981, recommended the establishment

(1) SR
A) NABARD B) NCDC
C) NCUI D) All the above

112. NCUI «owa:
A) National Cooperative Union of India
B) Natural Coir Union of India
C) National Coir Union of India
D) National Commission for Universities in
India
NCUI is...ccueeneee
A) National Cooperative Union of India
B) Natural Coir Union of India
C) National Coir Union of India
D) National Commission for Universities in
India
113. 3-300 WIS SedNore — AER), weReoRd.
A) BT, Doty ToMe DT, AFFO LORND
B) sE08, ROy TR 0o, AHTVO LRODND
C) 2R, FRriedE Tone ToF ATFO LRODND
D) oot 9388 Tone oo RBTVO LROBND



Three tier credit structure include:

A) District, State and National Co-operative
Banks

B) Primary, District and State Co-operative
Banks

C) District, Regional and National Co-operative
Banks

D) State, Regional and National Co-operative
Banks

114. "ox0eD® Po©'s, OMTRIRRIAT FOFOID:!

A) NDDB B) NCDC
C) NCHF D) HDFC
The .iciviiiiiiiiiinininnns implemented the

“Operation Flood Programme”.
A) NDDB B) NCDC
C) NCHF D) HDFC

115. LAMPS «owg:

A) Large sized Multipurpose Cooperative

Societies

B) Large Sized Adivasi Multipurpose
Cooperative Societies

C) Large Agricultural  Multipurpose

Cooperative Societies
D) 20ed3 cSnnBR 9

LAMPS stands for:

A) Large sized Multipurpose Cooperative
Societies

B) Large Sized Adivasi Multipurpose
Cooperative Societies

C) Large Agricultural Multipurpose
Cooperative Societies

D) None of the above

116. ZORGONT OINT YINTY ITTITTY,
BeoReNTS?
A) V

C) VII

B) VI
D) IX

Co-operation is included in the
schedule of Indian Constitution
A)V B) VI

C) VII D) IX

10

117. 33 ESNJJYNYY F30FTTNTRy, HTWLS20:

A) 033, o, LB T 9T 3Y
e

B) oo Tone WPAT DR NN

C) 3eT Tonp TR TWFIT FY

D) 2D0eQaT ATRNRG &

The odd one out in the following is......

A) Fuel, Oil Electricity and other power
charges.

B) Store and spare parts consume

C) Direct or indirect labour.

D) Cost of goods purchased

118. T30 BoFNRYY TIITHNY, ACLOZE QOTT:

A) BTZOO0T A0HOZED

B) A3 300T Q03003

C) 2u03TO0T JCOZED

D) Tee 33 DOTBL 0T AODOTEd

Democratic control in co-operatives is:
A) Control by member user

B) Government control

C) Control by Registrar

D) Board of Directors

119. 33 3$AT O35 ﬁoﬁ@oﬁ: LOZF,NEL ‘om0’

RTOROT WRLODHTTNI?

A) Tt AHTO ToLd YOIVTWIT FOF

B) 300 8¢ IR0 T GVTVWIT LERLS
C) wdemo Bed

D) &0eds g

The products of ............. is popularly

known by the brand name ‘Amul’.

A) Katra Cooperative Dairy Society

B) Kaira District Cooperative Milk Producers
Union

C) Baroda Dairy

D) All of the above

120. Bacse salrensy) S5Kd ITHRO IS BORRY,

3035007 AW SCHT, Sewas.
INEResd B) 307 03
C) a0RRe D) vz Bme3



The .iovvvvivnninnnen. committee was Expand NAFED:

appointed by the Planning Commission of A) National Agricultural Co-operative
India to prepare a Model Cooperative Bill. Marketing Federation
A) Sivaraman B) Sir Maclagan B) National Agricultural Federation of Co-
C) Khusro D) Brahm Prakash operative Marketing

121. IRTIT TR0 BHTOOH BOTTTE. C) National Co-operative Fisheries
A) BT RREY  B) Fpodiped Hnz Federation
C) Ztee 3 Tedee® D) BN OO D) None of these
.................. was a pioneer leader of 125. "HE9 %RS SnoouE BAERTR O30

TRRTWET:

Indian Cooperative Movement.
A) D.R. Gadgil B)Vaikunthbhai Mehta
C) Sardar Patel D) Verghese Kurien

122. PACS aowd:

A) D.303F.3T°. 2.7 2.
B) 2.63035°.630°.2.630°. 3.
C) B30I, "

D) sog50ws
A) Primary Agricultural Cooperative Society
B) Primary Association of Credit Societies ‘Linking of credit with marketing’ was a
C) Primary Agricultural Credit Society recommendation of
D) Primary Association of Credit Societies A) AIRCSC
PACS is: B) AIRCRC
A) Primary Agricultural Cooperative Society C) Saraiyya Committee
B) Primary Association of Credit Societies D) CRAFICARD
C) Primary Agricultural Credit Society 126. 2,009 TRTO ToT):
D) Primary Association of Credit Societies A) 20T SORF
123. VAMNICOM ¥z 39 %@Smﬁd. B) 7050238 T9,00T 200N
A) ITBHO B) 3o C) B3ne "o
C) wodwec® D) &30t D) 2093 29
VAMNICOM is situated at: A co-operative society is:
A) New Delhi B) Pune A) An enterprise
C) Indore D) Hyderabad B) Norms of social justice
124. NAFEDF&:ol DFO2: C) An association of persons
A) National Agricultural Co-operative D) All of these

Marketing Federation 127. 32590 2oFS LoTe:

A) 20TIDF TLON FOWIVBT LWMINTTY,
BRTBANTZYTD

B) so@werdeed RemsT e:oapw@@(p

C) BRF 3B, Tomseod ITTerd

D) ATRI 263 w0, ROTOORTYTH

B) National Agricultural Federation of Co-
operative Marketing

C) National Co-operative Fisheries
Federation

D) 0I5 clnBR ©Y




Objective of a co- operative society is Which of the following is not a component

A) Removal of social evils of capitalism of own reserves?
B) Development of corporate life A) Share Capital ~ B) Profit
C) Neutrality in religion and politics C) Deposit D) Reserve Fund
D) Increasing the standard of living of the 132. msgﬁeé c%03E TR dgq%mds ©OTT)
members 3O @B
128. 220 (ICA) @0w8: A) 8T°.20.. B) Se@Ee
A) International Co-operative Association C) 8T°.2.Q%". D) 300 ¢
B) International Co-operative Alliance The regulatory and supervisory authority
C) Indian Co-operative Association of PACS is:
D) Indian Co-operative Alliance A) RBI B) NABARD
C) RCS D) Secretary
ICA stands for:

133. .00 BXT0 msoéai TIW To ) TRVROTT:
A) 0B STOOD B) 550590 ©00®
C) 2338 ©tp0d D) o030 RYon okn
The main source of profit of a co-operative

A) International Co-operative Association
B) International Co-operative Alliance

C) Indian Co-operative Association

D) Indian Co-operative Alliance

129, monBoh®) Zopnem, o3 moite o3 bankis:
BREMOECInY FoPHEom SNersoReRons:. A) Interest income
A) 1904 B) 1912 B) Tr?de income '
C) 1969 D) 1984 C) Miscellaneous income
Societies classified on the basis of liabilities D) Locker rent
limited and unlimited in ___ Act. 134. SeRTFS ag@s SRTH):
A) 1904 B) 1912 A) National Bank for Rural Development
C) 1969 D) 1984 B) National Agency Bank for Agricultural and
130. ooz, ATHO TR TPITITHRY, Rural Development
SenDI=T: C) National Bank for Agricultural and Rural
A) WO Development
B) 8503 D) None of these
C) oo whoume wodeen NABARD stands for:
D) 3¢dT clpnte 99 A) National Bank for Rural Development

The State Co-operative Election Authority B) National Agency Bank for Agricultural
and Rural Development

C) National Bank for Agricultural and Rural
Development

D) None of these

135, OFF.2.2.83.032 m@ﬁémd [RER):

shall be appointed by:
A) Registrar
B) Government
C) State Election Commission

D) None of these
A) 1973 B) 1974
131. 38N BSRYTH aos TR AR ©Y? C) 1975 D) 1976
A) e wommeY  B) ool NCCT was established in:
C) Bezsed D) Qoezmen H A) 1973 B) 1974
C) 1975 D) 1976



136. 50030 TP B0 BoR):

A) oo ABTO BHMOT FOF
B) R0tp7 AHT00 B@hwdd Ko
C) 20mo ATTO BMOE FOTF

0

D) 00 ZBFO Bdredd oF

India’s First Dairy Co-operative society is:
A) Kaira Co-operative Dairy Society

B) Madras Co-operative Dairy Society

C) Bengal Co-operative Dairy Society

D) Lucknow Co-operative Dairy Society

137. 250 LOTICHTBATR, STWHTIR [REELD

03390 9T WeH?
A)e%%?A
O) mmsé %S

B) 3000 BéE
D) svzFen8

The co-operative bye laws can be amended
only with the approval of:

A) President

C) General Body

B) Secretary
D) Sub Committee

138. 35 $NT CIRJYTD BTOH VTS $00Q?

A) TOOTMED VI BOONTNED

B) @ne&dnsd

C) ws3 méoﬁmei:ao@ﬁs Bea0nw
D) 3nH o3

Which of the following is not an earning
asset?

A) Loans and advances

B) Investments

C) Claims with other banks

D) Cash balance

139. 1%, IR3 SRTEOCHy, Letrin FoHWR:

A) WDV, ABFTVO FOFNY F0%)

B) 803X ©[OIT ITRT BTTO
ROFTT TOKR)

C) 3T0FE38 IHTWO BOJRLE

D) S»TO ATTO FOFRY TR

13

140.

Brahma Prakash Model is also known as:

A) Multi state Co-operative Society Act

B) Andhra Pradesh Mutually aided Co-
operative Society Act

C) Karnataka Co-operative Vision

D) Model Co-operative Societies Act

TTTO TOFNY SRW'T IORITN,
ANARPORTTTH:

A) eI B) m%0¢ 3

C) QLOFID D) S0ToSBe 0T
The manner of a co-operative audit shall
be prescribed by the:

A) Director B) Government

C) Registrar D) Auditor General

141. 3330 BoFneQ <3 STITORY, Jea0BTTL:

142.

143.

A) QWOTFD

B)m%m QTETI (SBEF)
C) moRd, =l

D) ZZ000% JATeFTTD (SREF)

Who appoints Auditors in a Co-operative

Society?

A) Registrar

B) Additional Director (Audit)

C) General Body

D) Asst. Registrar (Audit)

ABTO FRTOTOT TAT us;aa@ ___534
BRWTIT.

A) 0D B) ﬁﬁm%

C) 008 D) Bs=edn

The green colour in the co-operative flag
denotes:

A) Justice B) Harmony

C) Peace D) Growth
POTSTY T ITF TITFTO ITNIR)

TRTOFTNE ARF):
A) IFowT® 14
C) ©3neo” 02

B) ©dneo 14
D) 3&802T® 20



In India, the co-operative week every year
begins from:

A) November 14  B) October 14

C) October 2 D) November 20

144. ooz TTT0 msoéa xdz)‘s& 350357
A) TRPWNT R @m@% méosa
B) 3¢00 Bxmw00 OB
C) INT FIZTO L0
D) t0@ENE IXT0 FOFTNRW

Who are the members of the State Co-
operative Bank?

A) Primary Land Development Bank

B) Central Co-operative Bank

C) Urban Co-operative Bank

D) Primary Co-operative Societies

145. 5203008 BRRO LARKT MIICIRG TAF:

A) 1904 B) 1912
C) 1929 D) 1935

National Co-operative Union of India was
established in:

A) 1904 B) 1912
C) 1929 D) 1935
146. ITT0 TOFNRLL wOTLNRAR SRR,
A) TR B) e.308
C) ToR0FT D) moz3e3d

Co-operative societies come together to

form a:
A) Confederation  B) Federation
C) Association D) Organization

147. snexen aaoﬁa‘% o’ aéms@gmmgd.
A) Bemedned B) o3¢ ©og
C)BR@T oz D) Redd womwwe

The Reserve Fund is appropriated from:
A) Deposits B) Net Profit
C) Trade profit D) Share capital

148. 3x%0 oFTI mség ICC NN | —
ReMnY Ty WIIR.
A) 3ZTY B) oemennsh
C) L30xTe Advm g D) H0eds Qe

14

In a Co-operative balance sheet ............
appears liability side.
A) Depreciation

C) Undistributed profit D) All the above

B) Reserves

149. 33850 aowzgzoa‘ WRT DRTOTORPI®

TREND.

A)2 B)3 C)4 D)5
The term of office of Co-operative
Ombudsman is ___ years.

A)2 B)3 C)4 D)5

150. =003 TR ﬁzg 30HY BWEFNOS
BRIV IR IRIH):
A) 32303 B) woBme¢ 3§
C) TT/O (<o) D) A0 €0

Excess of credit over debit in the Income
and Expenditure account is
A) Deficit B) Capital fund
C) Surplus D) Drawing

151. BoTRST 17 <one 183k pnsd
BSRTZ VIR,
A) T[0T
C) o230

B) &3
D) g3

The articles 17 and 18 of constitution

provide for equality.

A) Social B) Economic
C) Political D) Religious

152. TORNGTOTTW OIRW PO @%@363033534
SRBREITI?
A) 14 B) 15 )16 D)17
Which Article of the Indian Constitution
abolishes “Untouchability”?
A) 14 B)1s O©)1e6 D) 17

153. xoammmd @eséms 0T BWPTTH)
R=TT:
A) U@%ﬁé B) 5oz

C) T 00¢, D) mzgpes e, T9,03000D




154.

155.

156.

157.

158.

The final authority to interpret our
Constitution is the:
A) President

C) Prime Minister

B) Parliament
D) Supreme Court

TONTORR) U@E‘éﬁ ORTT ToNe @03:?71@?5:4

— TYRYY Inersoai.
A) QTR B) 2050
C) oy, D) 2w

Indian Constitution has divided the powers

and function of the state into lists.
A) Two B) Three
C) Four D) Five

oY SROFITY I0QITRNDE AIZToew
BWOIIZ0IITy, OINT We0IF TThow
B3R ERYTRNTI?
A) 2D Fe
(O RAMANCD

B) cozS5003¢6d
D) SZN0TE NWTIET®

From which historical work were the words
“Satyameva Jayate” appearing under the
national emblem taken?

A) Rig veda B) Ramayana

C) Bhagawad Gita D) Mundaka Upanishad

TBOATTRY) T, AT 3:33?336%371%* iR
g@mgzsv
A)l B)2 0)3 D) 4

How many ‘types of emergencies are
envisaged by the Constitution?

A)l B) 2 )3 D) 4
NRONTTT  LHTVRTD wo&mcﬁda’o&

m@&zﬂmnd.

A) 355 B) 320

C) 256 D) 324

The Election Commission is established

under the Article

A) 355 B) 320

C) 256 D) 324

TONTRTY O, TRVRRT FIFHNEH Qe3?

A9 B)10 O1I11 D12

15

How many Fundamental Duties are
included in Indian Constitution?
A)9 B) 10 O 11 D) 12

159. T30 zzsg I3NY xﬁracngd THRIVOBT®

160.

033Ts?
A) Tpes &g
C)S3me R

B) m@m
D) Zedod aEvled

Who is the Supreme Commander of Indian
Armed Forces?

A) The Prime Minister of India

B) The President of India

C) The Defence Minister

D) Chief of Army Staff

TRTOTD e.-soiracn‘wa’oel oOINwW ©IINR
SEBSIMHIT?

A) T IHE

B) Q0% JI&:ENRD

C) W B[RO

D) Mom&s 92 0d30me0

For which period the Finance Commission
is formed?

A) Every year

B) 2 years

C) 5 years

D) As per the wishes of Parliament

161. oY JENHL ORRPAT AWNesTeeod NOR
& =g ©

162.

(Shnanlevss)
A) DRV 2oNww
C) 2003 Sonsd

B) &0 &ongd
D) &6 Fwon

A Presidential Ordinance can remain in
force
A) For three months

C) For nine months

B) For six months
D) Indefinitely

TOBET TR WRHREIING BRI ROy wo3TR

—_ SONnsHneh.

A)3 B4 (06 D)9



The maximum possible gap between two
sessions of Parliament is __ months.
A)3 B) 4 )6 D)9
163. 5003 TRNROBTE — [OHAAOT TNT TOILY
BTTOTLTT,
A)I8 B)21 (C)22 D)25
Citizen of India can vote at the age of
years.
A) 18 B)21 C€)22 D)25
164. 303D DCTTLOFR) %maw [RERY:
A) 1956 B) 1957
C) 1958 D) 1960

165.

The unification of Karnataka was

achieved in the year.

A) 1956 B) 1957

C) 1958 D) 1960

XZOZ, PoUsW TOoTIT IJFR> ILOTS
C35TINTITH?

A) T Te B) @30 aor

C) 09=T Fne D) 22.8.53508 33T

Who was the First Speaker of Independent
India’s Lok Sabha?
A) Rabi Ray

C) Bali Ram Bhagat

B) Hukam Singh
D) G.V. Mavalankar

166. mmszﬂzs SR BReIVPNY wow wR[EITH

OFFINT, — FWIT.
A) U@%ﬁé

B) w@m@wé

C) Sre3zEod FeeDd

D) @02, 59,0835e35T0

Joint Sitting of Rajya Sabha and Lok Sabha
is presided over by:

A) President

B) Vice President

C) Speaker of Lok Sabha

D) Chief Justice of India

16

167. :jp@coﬁ FOIPO-TTFTR) ———— TEOIPY
OTBTONT.
A) geog B) ooz,
C) 3T D) 20T o3nn)TRe 9
Local self-government is included in the
_ list.
A) Union B) State
C) Concurrent D) None of the above

168.

35T ATTWOTD Ueeé)coﬁ ITT DRI,
SBOTRNTT?
A) on 14

C) ©30es 2

B) x3&0 25
D) %330 26

On which date is the National Voter’s Day
celebrated?

A) 14th August
C) 2nd October

B) 25th January
D) 26th January

169. SRegzEohS BOLF w3 FROTODE, WeHOY

P = -
~C3~2SC$ a)Oéb';S cbwgs?

A) 79 B) 84 C) 52 D) 66
How many seats are reserved for Scheduled
Castes in the Lok Sabha?
A) 79 B)84 ()52 D) 66
170. 30T S5y oz, e w2
A) &30 B)3&
C) 3330 D) 028

171.

Which of the following is not a State
Service?

A) Education Service

B) Agriculture Service

C) Co-operative Service

D) Postal Service

BONTON) z;adsda:oz — QOTH FRCATIT.

A) LB TOT B) &o53ed8 oo
C) ooy wige D) wduinis ang)
The Constitution declares India to be a —

A) Federal State
C) Union of States

B) Provincial State
D) Quasi Federal



172. 0% 58, BemoTRER 303y JeTON FHITORD | 177. 3REed8 MmRnesd 0BT IRITITY,

— TYODIR. RBROQT /3.
A) ooz, B) Aev@8e A) 3c0g, ABFT
C) 3eo D) 3008 cinmncde g B) ooz, X500

C) T3 OB

Defence, armed forces and foreign affairs D) %07 9ts ®otiRN

are items included in the List. RRBs are owned by:
A) State B) Concurrent A) Central Govt
C) Union D) None of the above B) State Govt.
DY BRI TSRRRTT. D) Jointly by all the above
A) D B B) Zowoon3 mewd 178. 5030 OBIE WO TRWI (e 2024)
C) @ors g D) 3nT Jo3ode NETET® O35T?
A body consisting of persons registered in A)BABEISE
B) 8.5.5080

the electoral rolls in a village is: Q) 5§>ﬁ03 oox

A) Grama Sabha D) &30t 201 ©3medod
B) Panchayat Samithi Who is the present (May 2024) Governor
C) Ward Sabha of RBI?
D) Nagar Panchayat A) K.C. Chakrabarty
174. 3608 TeIohOHR dTOBAY Foss, a:y? B) D K Mittal
A) 36 B) 46 C) 97 D) 106 C) Shaktikanta Das

) . . ) D) Montek Singh Ahluwalia
Union List consist of how many subjects? 179. g% Jp—,

A) 36 B) 46 C) 97 D) 106 A) Know your customer

175. 3c0T :homomiem wodaensm) 33 3¢Ns SRRTE B) Know your character
BDTORBRER,, FBBHRRY? C) 3¢IT TR
A) Spes =g B) oogimeod wmewts D) 0ed3 odwzgp ¥
C) ooz R D) 390 H5oFTrisd KYC means:

A) Know your customer

The Central Election Commission does not B) Know your character

conduct the elections to the: C) Both of above
A) Lok Sabha B) President’s election D) None of above
C) Rajya Sabha D) Local Bodies 180. 358 Jpctanes), BoIBR ST 50:;0533:

A) 8T°.2.%0. B) So@Es

176. Ocz® méoﬁa ABREBT BTOLTT IR
C) A5oFd ROBN® D) 3eod B5orT

A) 1966 B) 1967 .
Currency notes are issued by:

C) 1968 D) 1969 A) RBI

Lead Bank Scheme was started in . B) NABARD

A) 1966 B) 1967 C) Public sector banks

C) 1968 D) 1969 D) Central Government



181. Q8QT® e.-oas’oe1 3 FYNT oIR) z:s‘#i How many digits are in there in IFSC code?
WETTITONT? A) 10 B) 11
A) T 30D O) 12 D) 13

B) mdg, 3353&@%@ 186. 3: NS OINT HRFO WoH ©I B
C) m3oh Fpazhos: Zosintens, BRonT?
1 :

D) 30T 20
) R A) TROFT & Q0RBKP®

ATM can pe used for: B) ©oeme) 3%?@@"’ £R0%
A) Cash w1thdra?va1 C) B ROF ST 208 .
B) Balance enquiry «
D) t300% &3¢ wBeeE
C) Statement of account 3
D) All of above Which of the following Public Sector Banks
182. =003 méﬁwﬁb‘i gma:bweg ST 535%5 has the highest number of branches in
wRBoms: India?
A) 08 RHIE, ROIREAETT A) Bank of India
B) ©c0T 500350 2305 B) Punjab National Bank
C) =0 WIVTFY, TOOITVF ITH C) State Bank of India
D) 0ed5 odna=mp 99 D) Bank of Baroda
The important tool by which RBI influences 187. 8 2¢ns o3= aIN mso& 6:33503 BRmc:?
the Money Supply: . A) 2205 B) ws
A) Open Market Operation C) 0T BT b ;’se .
B) Money Operation ) PRI ) P RTLRA
C) Closed market Operation Which is the largest private sector bank
D) None of the Above in India?
] - . .
183. &Tf.0.20. U@c@)@ﬁd?@ﬁ.@Oﬁ [IER): A) ICICI B) Axis
A) 1945 B) 1949 C) HDFC D) HSBC
C) 1935 D) 1911
188.250037Y TF wROR QVITF T msosa
RBI was nationalized in..... 3o ‘_;;q @
A) 1945 B) 1949 e
—60% 9 -t
C) 1935 D) 1911 A) QTFIFRA B) o720
C) 887 RO D) FRIFTTA 3,0
184. 2438 oedTHT 3ot Wmh SYCHW 3 TSNS ~
oﬁw@cﬁaﬁa& WEBRMHITR? Which is the First Bank to introduce ATM
A) QTFDRLST B) to2e3T° In India?
C) 2T s0° D) 20D odnmge ¥ A) HSBC B) SBI
What method is used by the bank to read C) Axis Bank D) HDFC bank
Code on cheque? 189. c35oTs 035008 ecdy, TIRERy, DerTYS?
A) MICR B) OCR A) 30TRCWOT 2,087
C) OMR D) None of the above B) £0.08R900 t0BNOR
) )
185. Taslfoan% SxaczsesQBaﬁs WOINPI? 0) momnecs sozaner
) : D) 20%0r90s ©edimsorn
C) 12 D) 13



Who issues ‘Commercial Papers’?
A) A Company to a Bank

B) Banks to Banks

C) Banks to Company

D) Company to its Suppliers

190. 03 so:;oﬁa TOOMTT WOT aém:ﬂwﬁa‘*

191.

9TH3T?
A) 2R B) 220w
C) 077307200 D) 2s0°80

Which organization provides Credit
History of the Borrowers?

A) CIBIL B) ClI

C) FRBI D) IRDA

PTITY o méoés woiz?mabol SRS
ﬁo:’%o&a:

A) FORY® tROT BT QOROI®

B) 0x3F 0T & Q0RBKP

C) Zeer WROT ST QORAP

D) Soow FIIS 0T

The central banking functions in India are
performed by the

A) Central Bank of India

B) Reserve Bank of India

C) State Bank of India

D) Punjab National Bank

192. 33 39NT CIRJYT ST* VT RORFRY?

A) SNy BeoRm
B) 33200 woéosc@
C) Fez3ed R eBORTZT
D) &3 dodogee

Which of the following is not a function of
RBI?

A) Issue Currency

B) Banker to the Government

C) Accept Deposit

D) Control Credit

19

197. zs'ﬁed:éoﬁomﬁz ac%ammﬁ, mso%:

193. ;RT3 MmF IRTBLCHT, ACHOIHT

ﬁo,‘q;oﬁo::

A) $30°.20.%0. B) 8.30°..%0.

C) 07°.20.0. D) &5°.20.2.%.

Agency that regulates stock markets in
India is:

A) RBI B) TRAI

C) SBI D) SEBI

194. 2exy) 3e. 88 =ToY W@ Cﬂd% Se. 1000/-89,

mo% TERQEO. AT IR ToTT AR
DeRBeTT 283 JRIH):

A)Tw. 1320 B) dw. 1220

C)ow. 1420 D)3dw. 1020

You have borrowed Rs. 1000/- at a simple
interest rate of Rs. 8 per cent per annum.

The total sum payable after two years is:

A)Rs. 1320 B) Rs. 1220
C) Rs. 1420 D) Rs. 1020
195. Sez@E m@ﬁﬁoﬁd TRER):
A) 1981 B) 1982
C) 1991 D) 1992
NABARD was established in the year:
A) 1981 B) 1982
C) 1991 D) 1992
196. 2R,080n° TeCHRY HITNRT TR ...
A) 1996 B) 1901
C) 1991 D) 1989
When did the banking sector reforms
initiate?
A) 1996 B) 1901
C) 1991 D) 1989

3533,

MBI EBTOTTL.
A) 3Ru07 HF Bk
B) duc® &3 3BWT
C) oeds cdozge ©Q
D) 3¢9 QTTR




While accepting deposit, a banker becomes

and customer is
A) Creditor and debtor
B) Debtor and Creditor
C) None of these

D) Both of the above

198. 2005 NOWT:

A) BReT LROIONT FORT,
B) 30cT® LROB0TT HORTT',
C) o3T° LROION" ORI’
D) @& 08017 FORT,

CBS stands for ........

A) Code Banking Solutions

B) Core Banking Solutions

C) Common Banking Solutions
D) Credit Banking Solutions

199. w70tz Jeodw aa»"#o&z'feaﬁ’c'o‘ool &en wrea’a

SRERMIT:

A) LR8I INT F0LOIY

B) 28303 oeod

C) 083 5937 AYRPTT DRVT
D) &0ed3 o3mEp ©g

Account payee cheques can be paid:
A) At cash counter of Bank

B) At ATM

C) By depositing in Bank account

D) None of above

200. o33 méosmd ‘903330 99T NOTWN

6803:&7971:%&3?

A) 0e8% tROB  B) Zx OB

C) Bzns o D) 3e0g, 2,08
Which bank is called lender of last resort?

A) Commercial bank  B) Agricultural bank
C) Industrial bank D) Central bank



